Instructor: Dr. Francesco Strazzull
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1. Tori just got a ride on ATL ferris
and one "flight" is equal to four re
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2. Determine the amplitude, period,
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?/: Kf‘h’ﬂﬂg‘;

N Thd s £+ |l
A!"}B % }/ .BH\rr
.A' .’é\f"l?g,\,_("t" b= ’_'/;

—————mm—

Dy SHIFT

v

MAT 121 — Exam3 — Spring 2018
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ceive third party help in completing this test (sign)

g exercises. Each exercise is worth 10 points. If you need to approximate then round to
pecified. This is an open book test. You can also use a graphing tool and/or a computer
ou cannot use any “solve” tool. When solving a problem graphically sketch the graph

, PLEASE (no work, no credit).

wheel. What are her linear and angular speeds if the diameter of the wheel is 200 feet
volutions, lasting about 15 minutes? Round your solutions to two decimal places.
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and phase shift of the following trigonometric model.

3
x__“
5

y = 3— 5COS(

phase shift". If there is a phase shift, state the direction of the phase shift and the

ber) the graph is shifted.
e/ A(M‘P{ATV 1 \ ’H

By+l )
( \M: ( %»a._bm rz.f;;z:rT)

Perwel =

97
&l

© o Pskwn = 2L - i€
y - Yy J

- 24

=

“rr/j

/%

~.§  UmTs 1o RWGHT




3. Taylor is watching a Space X launch from an observation spot 7 miles away. Find the angle of elevation from Taylor to
the spacecraft, when it is at a height of 1.2 miles. Write your answer in degrees rounded to two decimal places.
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4. Use trigonometric identities to simplify the expression.

csc?(B) + csc(B) cos*(P)
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S. Use trigonometric identities and algebraic methods, as necessary, to solve the following trigonometric equation.

cos?(x) — 4sin(x) = 3sin(x) — 2

Please, indicate all possible solutions. Use the parameter k to represent any integer multiple of the function's period in
the interval [0, 21) . Write your answer in radians, as an exact answer when possible, else round to four decimal places.
If there is no solution, please state "No Solution".
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6. Use trigonometric identities and algebraic methods, as necessary, to solve the following trigonometric equation.

Please indicate only the solutions
else round to four decimal places.
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2sin (Zx = %) — 1 = cos (%ﬁ = Zx)
n the interval [0, 2). Write your answer in radians, as an exact answer when possible,
If there is no solution, please state "No Solution”.
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7. A rock leaves a slingshot at an angle of 8 in reference to the horizontal. The initial velocity is v, = 15 feet per second .
The rock hits a target 120 feet away. Find one value of 6 if the range of the rock is given by the equation

1
=35 2 5in(20).
Please write your answer in degrees or radians rounded to the nearest hundredth
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